The problem for evaluation of the pliability of a project
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B/C=2300/1250=1.8

gokm/h  |B=B1+Ba=400+1000=1400 a B=B1+Ba'=400+600=1000

20000 / |c=ci@)+ci( )=800+100 900 or C=C1(2)+C1( )=500+0 500
B/C=1400/900=16 B/C=1000/500=2.0

8okm/h  |B=B2+Bb/2 200+4000/2=2200 a B=B2+Bb'/2 200+0/2=200

40000 / |C=C2(4)+C2( )=1000+50=1050 C=C2(2)+C2( )=700+0=700
B/C=2200/1050=2.1 B/C=200/700=03

80km/h  |B=B3+Bb/2=300+4000/2=2300 a B=B3+Bb'/2+Bc’

20000 / |c=C3(a)+C3( )=1200+50=1250 or =300+0/2+1000=1300

C=C3(2)+C23( )+C3( )
=700+100+0=800

B/C=1300/800=1.6
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